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Time : Three hours Maximum : 50 marks
Answer any THREE questions.

All questions carry equal marks.

1. Draw Lorenz curve from the following data :
Amount of profits (lakhs)  No of companies

150 28
160 20
600 34
840 30
1050 28
1500 26
1700 22
4000 12
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(a) Calculate the mean deviation about the
median for the following data :

Class : 0-10 10-20 20-30 30-40 40-50
Frequency : 18 16 15 12 10
Class : 50-60 60-70 70-80

Frequency : 5 2 2
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U@L : 0-10 10-20 20-30 30-40 40-50
O{CTE GT6w0T: 18 16 15 12 10
U@L : 50-60 60-70 70-80

<2{GITG GT6HT: 5 2 2

(b) Find the S.D for the following data :

X: 70-80 80-90 90-100 100-110 110-120
f: 12 18 35 42 50
X: 120-130 130-140 140-150

f: 45 20 8
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(b)

Pd

X:
Y:
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70-80 80-90 90-100 100-110 110-120

12 18 35 42 50
120-130 130-140 140-150
45 20 8

Fit a Poisson distribution for the following
data :

x: 0 1 2 3 4

f: 211 90 19 5 0
Epsaam_  leursHOmbg @@ UmLFTEr
upliuened GlUmmSSe,Lb.

x: 0 1 2 3 4

f: 211 90 19 5 0

Find the Karl-Pearson’s coefficient of
correlation for the following data :

14 16 17 18 19 20 21 22 23

84 78 70 75 66 67 62 58 60
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14 16 17 18 19 20 21 22 23

84 78 70 75 66 67 62 58 60
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(a)

(b)

From the two regression equation
3x+2y-26=0 and 6x+y-31=0. Find

the mean values of X and Y and also
correlation between X and Y.

3x+2y-26=0 wpmbdp 6x+y-31=0
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Ten coins are tossed simultaneously. Find
the probability of gelting :

(1) at least seven heads

(11) exactly seven heads

(i11)) at most seven heads.
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(a)

II :

II :

(b)

For the following date test at 5% level
whether the two population how the same

variance.
18 20 36 50 49 36 34 49 41

29 28 26 35 30 44 46

(Fy,, (8,6) = 4.15).
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18 20 36 50 49 36 34 49 41
29 28 26 35 30 44 46

(Fy,, (8,6) = 4.15)

For the following table test whether the
mean 1s same for both the batches.

Batch Mean S.D. Sample size

I 6850 25 1200
I 6858 3.0 1500
(2., =1.96).

5 U/ID 9010/JA2



ECp Qasrhssiiul(Herar =il Leuemanruiled(mbg
@re(® WfleysErs@n oCr syrem smerm erem
Camgener GlFuiwaeLb.

Aiey eprem gL elessnd  eramaer

I 6850 2.5 1200
II 6858 3.0 1500
(2., =1.96).
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